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QUESTION 1

An administrator is evaluating whether to deploy vCenter Server on a Windows server or as a vCenter Server appliance.
The administrator has the following requirements:

Utilize a web browser to manage the vSphere environment.

16 ESXi hosts will be managed.

Licenses must be shared with the vCenter Server environment at another site.

An external Oracle 10g database server will be used for the vCenter Server database.
Why will the administrator need to deploy vCenter Server on a Windows server?

A. Linked Mode is NOT available with the vCenter Server appliance.

B. Oracle 10g is NOT a supported database for the vCenter Server appliance.

C. The vSphere web client is NOT available with the vCenter Server appliance.

D. The vCenter Server appliance can NOT manage more than 5 hosts.

Correct Answer: A

QUESTION 2

An ESXi 5.x host disconnects within 60 seconds after the administrator adds it to the vCenter Server inventory. The
administrator determines that the issue could be related to a networking problem. Which networking port should the
administrator check for connectivity from the host to vCenter Server?

A. 902

B. 903

C. 443

D. 9443

Correct Answer: A

QUESTION 3

A SAN administrator recently installed a storage encryption switch on a Fibre Channel Fabric. Shortly after the
deployment, several new VMFS5 datastores recently created were dismounted. Attempts to manually mount them fail.
VMFS5 upgraded datastores are unaffected. All Storage arrays in use support VASA and VAAI. What is the root cause
of this problem?

A. All newly created VMFS5 datastores are tagged ATS_Only. The storage encryption switch blocks the ATS
command.
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B. All newly created VMFS5 datastores are tagged XCOPY_Only. The storage encryption switch blocks the XCOPY
command.

C. All newly created VMFS5 datastores are tagged WRITE_SAME_Only. The storage encryption switch blocks the
WRITE_SAME command.

D. All newly created VMFS5 datastores were formatted with 1MB block size. The storage encryption switch does not
support this block size.

Correct Answer: A

QUESTION 4

An administrator needs to create a two-node virtual machine cluster in a vSphere environment that uses a
Fibre Channel SAN. The clustering software does not have a SCSI target or a SCSI command pass-
through requirement.

Which VMware storage type should the administrator use?

A. Physical RDM

B. VMFS

C. Virtual RDM

D. NFS

Correct Answer: B

QUESTION 5

A virtual machine is unable to communicate with another virtual machine. Both virtual machines are connected to the
Production port group on the same virtual switch and are running on the same host. Which configuration is causing the
inability of the virtual machines to communicate?

A. LLDP was enabled instead of CDP for the vSphere Distributed Switch.

B. Promiscuous Mode has been set to Allow on the Production port group.

C. The Production port group is configured to use a secondary PVLAN.

D. The speed and duplex settings for the virtual machine vmnics do NOT match.

Correct Answer: C
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